
Name: __________________________________ Datum:__________

Addition und Übertrag Wildesel

Schreibe rechtsbündig unter den Pfeil mit Überträgen

=
>

1.) 4774843,079     4 7 7 4 8 4 3 , 0 7 9
1610912,66     1 6 1 0 9 1 2 , 6 6 0

    1   1     1   
    6 3 8 5 7 5 5 , 7 3 9

=
>

2.) 2337852,61      2 3 3 7 8 5 2 , 6 1
2609581,8      2 6 0 9 5 8 1 , 8 0
6441121,51      6 4 4 1 1 2 1 , 5 1

    1 1  1 1 1  1    
    1 1 3 8 8 5 5 5 , 9 2

=
>

3.) 9883103,881     9 8 8 3 1 0 3 , 8 8 1
5919817,31     5 9 1 9 8 1 7 , 3 1 0
1460224,14     1 4 6 0 2 2 4 , 1 4 0
634728,9      6 3 4 7 2 8 , 9 0 0

   1 2 1 1 1  2 2  1   
   1 7 8 9 7 8 7 4 , 2 3 1

=
>

4.) 6305710,64199  6 3 0 5 7 1 0 , 6 4 1 9 9 0
3654992,71  3 6 5 4 9 9 2 , 7 1 0 0 0 0

4289697,727111  4 2 8 9 6 9 7 , 7 2 7 1 1 1
1703575,0  1 7 0 3 5 7 5 , 0 0 0 0 0 0

9795110,62729  9 7 9 5 1 1 0 , 6 2 7 2 9 0
2 2 2 2 3 2 1 2  1 1 1    
2 5 7 4 9 0 8 6 , 7 0 6 3 9 1

=
>

5.) 3371642,16152   3 3 7 1 6 4 2 , 1 6 1 5 2
4786972,6   4 7 8 6 9 7 2 , 6 0 0 0 0
2357135,18   2 3 5 7 1 3 5 , 1 8 0 0 0
8640756,9   8 6 4 0 7 5 6 , 9 0 0 0 0

2998762,73366   2 9 9 8 7 6 2 , 7 3 3 6 6
73267,37     7 3 2 6 7 , 3 7 0 0 0

 2 3 4 2 3 3 2 2  2  1   
 2 2 2 2 8 5 3 6 , 9 4 5 1 8

 W.Knobloch
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2 3 4 2 3 3 2 2

2 2 2 2 8 5 3 6,9 4 5 1 8

 2 3 5 7 1 3 5,1 8 0 0 0

 8 6 4 0 7 5 6,9 0 0 0 0

 2 9 9 8 7 6 2,7 3 3 6 6

   7 3 2 6 7,3 7 0 0 0

2 2 2 2 3 2 1 2 1 1 1      

 2 5 7 4 9 0 8 6,7 0 6 3 9 1

 3 3 7 1 6 4 2,1 6 1 5 2

 4 7 8 6 9 7 2,6 0 0 0 0

  3 6 5 4 9 9 2,7 1 0 0 0 0

  4 2 8 9 6 9 7,7 2 7 1 1 1

  9 7 9 5 1 1 0,6 2 7 2 9 0

  1 7 0 3 5 7 5,0 0 0 0 0 0

   6 3 4 7 2 8,9 0 0

1 2 1 1 1   2 2 1    

 1 7 8 9 7 8 7 4,2 3 1

  6 3 0 5 7 1 0,6 4 1 9 9 0

 1 1 3 8 8 5 5 5,9 2

  9 8 8 3 1 0 3,8 8 1

  5 9 1 9 8 1 7,3 1 0

  1 4 6 0 2 2 4,1 4 0

  6 4 4 1 1 2 1,5 1

1 1   1 1 1   1    

  2 3 3 7 8 5 2,6 1

  2 6 0 9 5 8 1,8 0

  4 7 7 4 8 4 3,0 7 9

  1 6 1 0 9 1 2,6 6 0

  1     1       1    

  6 3 8 5 7 5 5,7 3 9


